EARAROBEEIERT — 2 N— IBISH —F

20124F9A4H (K) 10EIFIRI4H

KW >%2m 4LE 10ATF (xwlw | mEmml - v ) 0w 8
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= e s E . _ _ ENT (b
1l5l5|7ETIN T~ # 2 gfi_’%*@)@ 1.((21).3 1-1 39.6 3 | a2 E{é‘iﬁ_ﬁtsu
T4 FUSv— B:7OYY1I— © B #—
L3 T F :04. - 9 - FZ8 (timd)
2 6| 7L I—IFvy b L 54.0 (11 014/26) " %9 1 ?_420) FREE— -
L:T7HIHFLIY B:Y—vLy hO—X B iE
o A HA :04. - 6| - KNG (s
3|8/10| 377NN —F et 76 A R .
TP B8A749 7748 B:Fz)-—I>Tz)b Slipse]
i . 4 2 | BIEREE 1:04.9 6-4 39.1| — 7 422 | 2IWFRI (LimiE)
alg|8|7Ya-T> 54.0 (1 1/2) Co |BFRE
LAY T A —F7—RK—FK B:Xh—Lv bUFa TS
— HLERE -05. - . — HFEA (dtimiE)
N BIREEE 2 as e R R P e
LTINTFINZL2 B:T7ART—4 [ihEaes]
— TR :05. = . — A0%E (dums)
6 4| IAVAILT 1 — * 2 A51.0 1(705[:? 10-10 ) 37.9 6 (323 kﬁg% -
R:TH—T4F4F+—-XY%> B: 74— KRO2-T * 7+ 24545
r s 2 | BllER :05.0 9-7 38.9| — 7 440 |/NEFE (ALimE)
71811\ BT TRTL 54.0 ") Co EE
L:TUHAZXIT K B:vwa RKY—v— eilikse]
s b= - B2 | BEEY 1:06.2 7-8 40.3] — 5 428 | EZEE (dbEE)
gl1|1|THtFas1> 54.0 ® Loy | ) Eixmis
R:ZAN—3I2FK—L B:A>T-KREETY =iE B
R JNBHEA :06. - . — Kt (dtimE)
N > BEZE S 2053 [ M [ I
L:TvAT7hyh— BhNZTr—L - istie]
ST i 2 | RAEEA 1:06.4 7-8 40.5| — 2 424 | AARRR (ILiEE)
10 3 Dtb?{ 54.0 (3/4) (-4) Bl p& &S
RV TATIL LR B/ LT Ry Al BREE
RV BirgA :06. - . — WEePE (dbimE)
117]9| 777 YNy o2 B 1(026>8 1111 | 39.2 i} ig? e, o
LT RIAYAT—> BibIHTU—b EE
® I —F—@EBIERL
13—7+—
23—F—
ga=7"= (5,6),10,2,7,8,(1,3),11,4,9
40—F— (5,6),10,(2,7,8),11,(1,3),4,9
[ N3
BB 5 590M 7 = 5-6 290M 3EE 5-6-10 860M
8 B 5 140 B & 5-6 300 JEH 5-6-10 3,820
6 130M B HE 5-6 780M
10 160/

ABICOVWTRDTEEERROODE. TR LIV,




